
G:\Produkte\00 Dokumente Word_Excel_Ppt\AS 31 GT\Aprilia\A05\Anbauanleitung A 05-pics.doc 

AS 31 GT 

A 05- installation manual 

    
         

                                                         

         

                                          

       

                         

                                                   

 
Stand 
06/05

 
REV 
  00

  

Bremsschlauchbefestigung 
am Bremszylinder nach 
180° Drehung. 
Fastening break hose after 
twist the brake system to 
180° 

 

Montage Bremslichtschalter 
an Bremslichthalter 
Assembly  Stopp light switch 

Vormontage Fußrastenanlage rechts 
Assembly footrest system on right side

 

Einstellung Bremshebelhöhe an 
Bremsbetätigungsstift. 
Adjusting break lever on break valve pin 

Befestigung Halter  Verkleidung  rechts  
Fastening holder covering right side

 

M8x8 DIN 933

 

M8x30 DIN 7991

 

M8x30 DIN 7991 

 

M8x40 DIN 7991 

 
Scheibe 8,4

 

Befestigung 
Bremsbetätigungsstift  
Fastening break valve pin 

HA14-B 


